TH7EE #E8ETt 85— KlRAK (GREUER : RHADERBRFED)

SRR H 48168 | 58148 | 68118 | 7898 HAEE
fERDHELONT-H 4H308 | 58228 |eAza7A188| JH22H
KB °C 17.8 20.3 21.8 28.8 —
pH (R ERKRKE)|—CC| 7404 7.2(14) 6.8(17) 6.7(14) 5.8~8.6
F O Y B = mg/| 1K 1K 1K 1K 60LLF
C O D M n mg/| 0.5K i 0.8 1.8 1.0 90LLF
B [®) D mg/| 0.8 0.5k i 0.9 0.7 60LLF
X B B % CFU/mL] 1&kiE BT 1R 1K 800LLF
n~A3Yy| 85 ¥ R % | mg/ 1R 1R 1R 1R 5LLF
HMEYE | SHEYHEE] mg B 1R 1R 1K 30LLF
2x/— )LEE A =] me [0005%kE]|0.0055%%]0.0055%E ] 0.0055%E 5LLF
H & F = mg/l | 0.05%ki# | 0.05%ki#% | 0.05%Ki# | 0.05K:% 3UTF
F 0 E A = mg/l | 0.01%KH 0.02 0.01k% | 0.01KE 2LLF
BAEMEHEEFEE [ mg 0.12 0.03%#% | 0.03%#E | 0.03%H 10LLF
BREE~AVEEA =] me/ 00055k 0.005%kE [ 0.005% % [ 0.005%E 10LLF
g A L & A 8 mg/l | 0.01%K: [ 0.01%K& [ 0.01%K& [ 0.01KH& 2LLTF
2 % 8 F = mg/| 0.3 0.2 0.2 0.2 120LLF
YV A & B = mg/| 0.02 0.01 0.01 0.01 16LLF
- mg/| 9.0 8.7 8.2 7.4 —
FILFILKEBLEEYM| mg — — BHEny — BiEhELNIE
72 ﬁa&) ﬁ%@ébﬁg fig ék fg me/| _ — looooskiE| — 0.005L4F
HDEEDLRUVOZFDIEEY] mg/ — — 0.003k i — 0.03LLF
MEUZTDODEAD] me — — 0.01K:% — 0.1LLF
il it &Y mg/| — — 0.1k — 1UTF
ANl OLIEEY mg/| — — 0.02K jif — 0.5LLF
MERERVCZEFOILEEY|] me — — 0.01K i — 0.1LLF
7 v oIk & W mg/| — — (RES: — 1LUF
RYUEBIE Jx =)L mg/ — — 0.00053 — 0.003LLF
FyZ oo ITFL Y| mgl — — 0.01kiH — 0.1LLF
FrFS7O00XITFL ]| me — — 0.01kiH — 0.1LLF
S A Oo[Q A3y me/| — — 0.02K i — 0.2LLF
B 1k x =* mg/| — — 0.002K; — 0.02LLF
12->4500I%> ]| mg — — 0.004K i — 0.04LLF
11->00ITFL 2| mg — — 0.1k — 1UF
T Z-12-CH/O0aIFLY mg/| — — 0.04K %5 — 0.4LLF
11i-rJy2oo0xT R mg — — 0.3%K5H — LT
112-ry700xT R mg — — 0.006k i — 0.06 LA T
13->oo0n07aoxXR2| mg — — 0.002K i — 0.02LLF
F o 5 A mg/| — — 0.0063K ;i — 0.06 LA T
P mg/| — — 0.003K i — 0.03LLF
F AR D AL D me/| — — 0.02K i — 02LLF
N Y ¥ Y me/| — — 0.01K# — 01T
LUV RBRUVZDIEED] meg — — 0.01K# — 01LLF
14—SA %3 me/| — — 0.05K i — 05T
F5FRUZDIEE®| me/ — — 0.19 — 50LLF
S52FRUZDIEE®H| me/ | 010%kE | 0.10%kE | 0.10%E | 010k 15 F
TUEZT-TUESIMEE Y- E : .
MRt emEUREtan | " | — — |0IRE | — 200L4°F
Tyt -7 M EF | my — — 0.1 K i — —




